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MATHEMATICS (SCIENCE)
‘Q.Paper : II (Objective Type ) (U1545)-022
(Time Allowed : 20 Minutes) LHR -Gl-2— (..,;f thy ) w220 1 =5

(Maximum Marks : 15) PAPER CODE = 7197 15 A4S
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Note : Four possible answers A B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / =iy KA
Point ( — 1, 4) lies in the quadrant :
WLE s A s eI vzf;ij’,,;,w'&, el Hski |2
. . Two tangents drawn to a circle (& s——-
Triple Double Equal Half from a point outside it are of---- in length :
Fek S5 A s g4 L e tniAe i SR bt | 3
Scale " Rate Value Place Mean is affected by change in ---- :
2. ; L oLl B LtV i | 4
S8 s5f S st 3= S iy ’
o Perpendicular Ng‘ i parallel The tangent and radius of 10 I
perpen@epiar a circle at the point of contact are ---- :
S f“)d/u F/&i & 5 ‘at'ufyufx Dy 5
Proportion Consequent Antecedent Relation In aratiox :y,y iscalled :
(S5 el _;,:“35’ ‘ Se(5E 2 :z‘-_rﬂff{xler/\xSIOl} 6
Finite set Null set Subset Infinite set The set {x|xeW Ax<101} is :
o ’ . o . s? 7 7
S P s P .%C‘M,Lﬂb&f/ Lok sz.u;,
A aie A choid Radins ameter The distance of any point of the circle to
v itsCentre is called :
) C e b/;lau.‘.’a:b=b:c./t?d)/ 8
B F¥4 L s In continued ¢ c‘:.t’l.‘z{ ot
Extremes Fourth Third Means proportion @ : b = b : ¢ , ¢ is said to be
---- proportional toaand b :
Ké./’b-c“.b‘k:::l]b%()o,;}r //":Ubéy’f' 4Ll §
4 3 2 1 A 4 c¢m long chord 1 Y1y
subtends a central angle of 60°. The
radial segment of this circle is :
B e twg/AUB JunarS BsASi | 10
BUA , ¢ A If A and B are disjoint sets, then AU B
is equal to :
J? Ve (}? ‘sl J"L/{ Roots : u}"f’ué 4x2—4x+1=0 oAl 11
Real, unequal Real, equal Irrational "1 of the equation 4x% —4x+1=0 are :
7 7 ry? | e B i |
x* x2 | The third proportional of x? and y is :
| S A Yy o o B
. w bty
S o S T A deviatioris dfi
Product Sum Histogram Constant d1ﬂ‘erence‘3}p5'1‘1!; va
from a :
1,—w,—a)2 - 1,~a),+a)2 —1,co,—co2 - 1,—a),—a)2 Cube roots of — 1 are : :ug.,,&b:«gl_—— 1| M
5 2 ) 1 1 15
cosd 2cos“ @ sec” @ 2sec” @ T e
1+sind 1-sinf
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(PART -1 sl )

12 2. Write short answers to any SIX (6) questions : o e A2 /"‘ L ey (6)14:43/ by

(i) Write the quadratic equation in standard form : 2l g Shard mtolearss (D)
| (kT (x-3)=-T

(i) Solve the equation by quadratic formula : 2- 2=Tx Sty SlenloGo (D)

(ii1) Define quadratic equation. E) SeblaGus (i

(iv) Write the quadratic equation from given roofs : 0,-3 2, el G uic_: Gwv)

(v) Evaluate : (1-o-0°) i ()” =i V)
(vi) Find o? if o= :l%———— = o= :—1%——— ial Sig e 0 (vi)

-ép‘"‘ X1y erin 3(4x-5y)=2x-Ty S id)
(vi) If 3(4x-5y)=2x-7y findtheratio x:y

(viii) Find a mean proportional between. : 20,45 ; 2k s —Pidhs  (viid)
(ix) Define ratio. oy Fler (%)
12 3. Write short answers to any SIX (6) questions : : o AR AL ey (6){4:.61( 3
(i) Define proper fraction and give one example: _EJeLimztoy FE S ()
(i) Resolve into partial fractions : le—l ’Z:(JJ; e w8z (D)

ZEeB YUX InY 2,459} s X ={1,4,7,9} S Gid)
(iii) If X ={1,4,7,9} and ¥={2,4,5,9},thenfind YU X
e AxBiB={-1,3} A=1{0,2,4}1 Gv)
Gv) IfA={0,2,4},B={ -1,3}thenfind AxB.

(v) Define an One-one function. -é..éf Y SFG wo-ep (W)
(vi) Write all the subsetsof {a, b} -é&:&fﬂ?ﬁ{ a,b}aer (vi)
(vil) Define geometric mean. -é_.y 7 Shosis4F1 (viD)

12, 14, 17,20, 24,29, 35,45 2@ bndlotird e s (viid)
(viil) Find arithmetic mean for the set of data : 12, 14, 17, 20, 24, 29, 35, 45

(ix) Find the range of the data : 11500, 12400, 15000, 14500, 14800 : ZEp#=rdiyr (ix)
12 4. Write short answers to any SIX (6) questions : . of AR /" L ey (6)4?4—43[ 4

(i) Convert —34£ into degrees. e 7 :/ 3 )
(i) Find 6,when {=2cmandr =3.5cm r=3.5cm =2 cm fér:"" 0 G
(iii) Prove that : ~ (1-sin?6) (1+tan®6) =1 S (id)

s pl o E F AugNz26s ()

(iv) How many minutes are there in two right angles?

(2".&3/} )




)

4, (v) Define acute angle. MQ.Q /-33- -’fcf..éj Y u( 2tk (V) "4
(vi) Define secant. ) (AT IR C)]
| BEy Pl ly (vid)

(vii) Define circumference of a circle.
(viii) Divide an arc of any length into -2‘:((? Sur” /,!/,»f J } ..{iJJU u’( (viiD)
two equal parts. .. o

£ -’é_.y/ &//bu‘; 3(x)

(ix) Define inscribed circle.
(PART -II fs5.2)
69 AR Bzl f S n

Note : Attempt THREE questions in all.

But question No.9 is Compulsory.’
4 5. (a) Solve the equation : V3x+100 -x =4 : iJ’ fu'l:l/@u M) 5
4 | a +ﬂ Zf}'yu}?uruﬂzﬁx+px+q Oubl/B‘OL Ji (o)
. () If o, P are the roots of the equation x*+ px + ¢ =0 , then evaluate a 23 B*
4 am=22 fiZ ,ou mASn PAP s Shered St (D) 6
n+p m- Sn m-35p
6. (a) Usmg the theoremt 6f componendo-d1v1dendo, find the value of
m+5n+m+5p if mlenp ‘
m- 5Sn m-5p n+p
: . 1 -, J,‘)ﬂ s :
4 (b) Resolve mto partxal fractions /-, ————— :é L Sz ()
io oo - A Ax— 1)2(x+1)
4 '—{2357}”’A-{13579}U{12345678910}%('))7
| | (AUBY = A B St
7(a)IfU~{12345678910}A{13579}andB {12,357}
then prove that (AUB) =A'NE
4 _ » i(}h"..’lj’ldJLvnl(}UL/ﬂijd;p’ (<)
(b) Find the mean length and standard deviation :
Length
&u_ 20-22 | 23-25 | 26-28 | 29-31 | 32-34
Frequency
N 3 6 12 9 2
4 8. (a) Prove that : 1+ane—l—sfna=4tam9 secd i (D) 8
1-sin@ 1+sind :

A3 6P VA CA s BC « AB LslLetasin WFAABC (o)

y. 8
(b) Circumscribe a circle about a triangle ABC with sides :
[AB|=6cm R |BC| =3cm |CA| =4cm
8 -‘ab“/-i:"’”b?bf{,/"ydfc..?//ﬁc./'bféazt" 9

9. - Prove that perpendicular from the centre of a circle on a chord bisects it.

OR
-LL")’U;JC-L}‘//!‘;LO/J}’ Wu;lu'/lﬂ",ﬂ/d//w:c.c—uf‘id:’ u*é_/bu/féwt'

Prove that the measure of a central angle of a minor arc of a circle, is double
that of the angle subtended by the corresponding major arc.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-

15)

(e, 4);7'119,4:4 )

(thﬂ; )-022
(Time Allowed : 20 Minutes) M£-4 30 (f,f (/35)

(Maximum Marks : PAPER CODE = 7198

A

(u:{‘/) U‘a.l:/

Lotzerna fpnd e sl Ly 744 dez-ujéa,) DsCe¢B « Aa;m.-f/tgédtr g
-{n/r‘."w?l:?uf.lJ&J!‘JL/{,/&K&é../'tgfd&bn&)c...{hé)/f;q?g/(/b(u/bwaw

two or more circles will result in_zero mark in that question.

15 ASF

book. Cutting or filling

CAS s ) gty
220 ;o5

g

D C B A Questions / =iy A
'54}37" s /;,eb/f 2l 41 1889 i X+ Il
A constant Anidentity | ARIMPIODEr | A proper fraction | (x—1)(x+2) (x=1)(x+2)
uru; 7 i s :_BQLJQJJVZ’Z'{;)C_M&J;LQ/’DHQ 2
g o Two tangents drawn to a circle  :(f&_ye--
Triple Double Equal Half from a point outside it are of---- in length :
ek 27 1 =3 % D el LS e |3
Scale " Rate Value Place Mean is affected by change in ---- :
Zujékgub’ga.ﬁ/ryéé.fu 4
2 I 3 4 How many tangents can be drawn from
a point outside the circle :
. ) b o 5
YN IT)) .-:J;PJ;G" e CETIRT (V%) 6 "..a?(—"/(:;x +377 + 6 =0zl
Quadratic Reciprocal Radical Exponential | Ap equation of the type 3% +327% 4 6=0
equation equation equation equation B o o
eI e £ {1,2,3 ) |6
9 8 6 4 The number of elements in power set of
{£1,2,3}is :
i L s ('fl?b' ; ‘LVM;)UULJ}’C—./(/LL_;U 1
i T ) A chord passing through the centre of a
Radius Circumference Diameter Secant circlesis-¢alled :
u=vk u=wk u = vk? u = wk? Ifﬁz—‘f—:k,then::?nﬁ:—‘}—:k/l ¢
v _w v w
J:-U" ._/(l/;‘ Jf‘.?‘/ S &Tugjj"é_.:_u;;u;(fé.;f]dffgf Py | 9
c o i lanii j ) Parallel A pair of chords of a circle Lunt
ongruent verlapping ncongruent aralle ﬂ’gﬂiﬂg two congruent central angles is :
Iv 1 Il I N o t8A—1,4) 5|10
3 = B, 4) lies in the quadrant :
g _3g - Iﬁ%+qx+r=0cab(» B(O(./l 11
2p D D Ifa,parc + :g_ﬁf ¥ 2P0 Un
| the roots of“fﬁz +gx+r =0, then
9, sum of the 5088 20 and 2B is :
g " = L e R
—t ¢ a8 ¢ uf i N : 'g‘-w/ YUEX tyesd | 12
Proportion Consequent Antecedent Relation In aratiox :y ',""yg:;is called :
Ll &s Vol S i 2605 | 13
Triangle Square Rectangle Closed figure ygon.13-a many sided :
a),a)z l,~w 1,0 1,-1 I
5 i 1 15
d S . —
2 V2 V2 242
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(PART -1 ;J)l,.i? )
12 2. Write short answers to any SIX (6) questions : 4 4z A L iy (6)4’;—6/ L

(i) Write the quadratic equation in standard form : 2 g Shadatsbr o ()
T
(ii) Solve the equation by quadratic formula : 4x* -14 =3x S ety il Guns (i)
(iii) Define radical equation. Sy e (il
(iv) Write the quadratic equation from given roots : 20 .:J;L»J.m::.uj ;/ZZ,: G(v)
3+442,3-42
(v) Evaluate : 2+ 20~ 20%) (3- 30 +30%) Eeed (V)

-%{(’b”v/bwb/"i’f(j’/r‘: 2px2 +3gx—4r=0 =il (VD)
(vi) Find the sum and product of the roots of equation 2px? +3gx —4r =0

-’Z;()"”ufx ;uny S x=3 —2y=T7 sl ycx /‘ (vil)
(vii) If yecx and y=7when x=3, find y in terms of x.

(viii) Find a third proportional to : a*-b*;a-b :Efl:r)l"‘ —F 2 (viii)
(ix) Define inverse variation. -é - /7 Sus7 (x)
12 3. Write short answers to any SIX (6) questions : o oA lR AL iy (6){4.éf 3
(1) What is proper fraction? ?:‘:.Jngf/ b (D)
(i1) Resolve into partial fractions : T3 2L ‘_}ﬁj S’ Sz G
(x+1)(x-3) )

e XUV InY={2,4,59} o X ={1,47,9} [ GiD
(i) If X ={1,4,7,9} and ¥={2,4,5,9},thenfind XUY

(iv) Find a,bif (a-4,b-2)=(2)0) (@-4,b-2)=2,}) L& b a (V)
(V) If L={a,b,c} thenfindL xL e LxLin L={ab,c}/i )
(vi) Define subset and give an example. -Zj:)u‘{ Jb‘*u_fb:lﬁ/ -7 d. 5:{[?2 (vi)
(vii) Define geometric mean. L P Sbas P (viD)
(viil) Find the range of the data : 11500, 12400, 15000, 14500, 14800 :ép’""wkf;v (viil)
(ix) What is histogram? ?w;féﬂd{ (ix)
12 4. Write short answers to any SIX (6) questions : : o AR ALy (6){;&/ 4
(i) Define radian. -é..éj/‘?d/u:fy (1
(i) Find ‘r’, when ¢ =52cm , 0=45° _x 0=45° sl ¢ =52em =& edr (i)
(iii) Prove that : ii%(—;o—sgzl +tan@ S e (D)
(1v)  Write the relation between degree and radian. -54/’?‘_}:(5/5»!@}"1 Gv)

(2’0/) )




2
4. (v) Define tangent of a circle. MR -q 2,22 é_u/‘fgvﬁm, W) -4

(vi) Define circum circle. é._ﬂ /’d/ s/ 028 (VD)
(vii) Define chord of a circle. . ) L 2y (vil)
(viii) Define central angle. ZJ Yd J SS, (viil)

(ix) The length of each side of a -f: P’)bIKJI-L(3dUJd“£J//’/J (ix)

regular octagon is 3 cm. Measure its perimeter.

~ (PART-II $5.2)

Note : Attempt THREE questions in all. - -q_.d)U 9 /Jb’dg 2 ..:«U?.L-:amrd gf O
But question No.9 is Compulsory.

4 5. (a) Solve the equation by completing square : : s S r—d/d‘f T feble (D) 5
ax* +4x-a=0,a%0
4 a B S -yt +(c-ax+(a=b)=0 ehlrSZEer (L)
(b) Show that thé rdots of the equation (b—c)x? +(c—a)x+(a—~b)=0 are real.
4 8=x71l=x::16-x:25-x :g{(,h*:,EJx Sl (y) .6
6. (a) Find x in the proportion” 8 —x:11-x::16-x:25-x
4 (b) Resolve into partial fractions-: —25_—5—— Z-fg}:b: Sl Sz (L)
» x“+2x-3
4 —{2357}mA~{13579}U—{12345678910}/l(')) 7

(ANBY = 4GB SEI 8§96 LS MS5n
7(a)IfU—{]2345678910}A{13579}andB—{2357}
then verify the De-Morgan’s law : (4N B)Y=4'U B

4 (b) Find the standard deviation "S" : :q{ryl’” "S" SIS Ae (&)
93,8,898,9,18

4 b ad 0§ Siin sind <0 an0 =301 (D) 8

8. (a) If tan@= -;—:— and sin@ < 0, then find values of other trigonometric

functions at @ ‘
4 Lt PEENI S A 3OS L e 205 L) ()
(b) Circumscribe a circle with regard to a right angle triangle with sides
3cm,4cmand 5 cm.
8 ety s LS 5§ (5252 el nSE ek 9
9. Prove that a stralght line, drawn from the centre of a circle to bisect a chord

( which is not a diameter ) is perpendicular to the chord.
OR
-c.t‘rbr;)r_c)fuy‘;éu/u'i ,.al»’d.luﬁjlw.dl/d/r/w::_aa/”gj:’ Jc,/b‘f(fé..ft'
Prove that the measure of a central angle of a minor arc of a circle, is double that
of the angle subtended by the corresponding major arc.
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